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The Parabolic's:

The Parabolic's with this system is a deadly weapon as they are not standard. And the reason is because 
they are not taken out with the candles but with a hidden LR. Which means; they are a heavy support 
and resistance. If the PSARs are in an uptrend and the market opens below a Parabolic, and the Parabolic
did not flip; then the next candle will continue in the uptrend and vice-versa. Signal for a parabolic flip is 
when the Parabolic is at EMA for the Purple crossing.
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On this post I will talk about entries off Resistance in a downtrend; and entries off Support in an uptrend.

I recommend highly in using your 2 hour for downtrends and using your 1 hour for uptrends. Because of 
the volatile market in a down trend the 2 hour is pretty stable with the volatility and is constant. Doesnt 
mean you cannot use the 1 hour provided you catch the top on a reversal.

So with this scenario on a downtrend I will go back to Tuesday at 17:00 EST in an uptrend changing over 
to a downtrend at 17:00 Wednesday. Pay a close attention in how I use support on an uptrend and 
resistance on a downtrend.

Here are the charts for the time period.





Now I am going to use snippets representing the moment.

This first snippet is the 2 hour chart after opening of the 17:00 candle and what is showing? First we 
recognize the trend with White Smooth and EMA had crossed Purple for the uptrend with the Parabolic in 
trend; in which all four are supports. Next we have ROMAR as resistance.



The 1 hour: On the same two hour candle we have the same trend: White Smooth and EMA in the 
uptrend trend with the Parabolic in trend. We also have ROMAR crossing Purple as a signal of changing 
trend for this swing. You also had the SAR attached to the previous two candles at the upper band. This 
attachment means a retrace back to support; and the SAR did reattached on the second 1 hour candle. 
And this is where I took my entry as low as possible at the Daily Open line at 117.272. Because of taking 
the entry as low as possible ROMAR was no longer a threat of losing my trade in using B/E.



This next 1 hour is showing the market getting above ROMAR which is now support and crossing EMA for 
the change of trend. And Traders that was an easy 40 pips.



And here is the 2 hour.



Next Trade:

One thing you have to always keep in mind and that is the Daily supports and resistance. On the trade 
above in the uptrend; the market also hit the Daily EMA resistance. This is why you always have a trading
plan right there at your trading station.

Showing here:



The Daily trend is down but also in consolidation. Both ROMAR and EMA are still in the downtrend. And 
this trend will not change until EMA crosses Purple and then: Well ROMAR will be one tough wall to break 
until EMA is within striking distance. So be looking at a lot of up and down days.

On this next trade you have the 2 hour showing the turn back into the downtrend and especially with the 
hit on the Daily EMA. You have showing a Red Arrow with the market breaking EMA and the Open Candle 
below Smooth. As support you have ROMAR and the Parabolic.



On the 1 hour you also have the Red Arrow and also the White Arrow for crossing the MACD zero. You 
have the open candle below Smooth resistance with ROMAR as support and the Parabolic had flip as 
resistance. My question is: Would I trade in this situation and the answer is not at this time. The risk for 
retraces is more than I want to chance.



But what I will do though is wait on the Parabolic to flip on the 2 hour before I risk any money on a trade.

And here is the entry with the Parabolic flip and open at Purple with the EMA crossing. Take note of 
change of trend with the four horsemen in trend. This is trading in the moment catching the trend at the 
top; and just letting the market give up the pips: Another 40 pip trade compounding.



Lets look at the retraces with the 1 hour in using the uptrend closing Friday:

We have an entry at Purple with the four horsemen in the uptrend; with 40 pips before retrace to Smooth
for another entry into the trend.



Next Retrace is EMA for an entry.



You had the SAR attached with the candle at the Parabolic for another entry to finish the day and week.

That was 3 easy entries in a trend. Imagine what you could have done in this trend; or any trend within 
the Paradox. If you had taken the first entry at the bottom you could had rode this trend to the top. 
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Here is a picture for end of day Friday with the name of the Indicators:

Each indicator is both support and resistance. The Purple, White, and Smooth are the 3 leaders in 
reversing trends. ROMAR is the Primary trend indicator. EMA is the Secondary trend indicator. And the 
Parabolics sets the trend.

On a reversal White is your first indication of a reversal by crossing Purple; then follows Smooth.

Smooth is a great indicator for you letting you know if the trend will reverse. If Smooth crosses Purple 
then you have a beginning reversal. If Smooth slides under Purple on an uptrend; or above Purple on a 
downtrend; you have what is called a slider and will continue in the trend and not reverse. EMA will also 
stay in the slider for the continuance of the trend. But if Smooth crosses Purple then EMA will cross 
Purple and the reversal is set provided the Parabolic had also flipped.

Now this picture above is from the 1 hour chart and lets says a reversal is in the makings and the 
Parabolic had flipped. This only means the 1 hour chart is set up for the reversal but does not mean the 2
hour is also set up for the same reversal. So you must check your 2 hour for the Parabolic flip. If it has 
not then you must wait on the 2 hour Parabolic. Otherwise you will have continuance retraces on the 1 
hour until the Parabolic on the 2 hour had flipped. This is known as Confluence Factors.

ROMAR is your leading trend indicator for the market. In this picture you see ROMAR as the leading trend
for the up. The reversal for ROMAR is with crossing EMA.

Do not ever anticipate these crossings. If you do you could possibly be running into a SLIDER. 
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Quoting rcbarlow
On the H1, it looks like purple is crossing the white indicator. On H1, what will that mean? 
Pullback to EMA perhaps?

The White crossing Purple is indicating a beginning of consolidation. Provided it does make a clean 
crossing and not slide on top of purple. As you can see the market is retracing for the consolidation and 
the White arrow had shown indicating the MACD crossing zero.

The market is now in consolidation for 1; reversal or 2; a slider for the continuance of the uptrend. And 
only time will tell which of the two it will do. 

Take note with the 1 hour EMA holding SUPPORT. The 2 hour has a ways for the EMA support. 

You had the Red and White arrows indicating a sell. As learning this system you have to learn about the 
support/resistance of the Parabolic and judging the Pips to the Parabolic. You have a minimum of the 20 
pips to the Parabolic then it is a safe trade. If not -- then don't even try it. 

††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††

Quoting diamonddbw
{quote} ++++++++++++++++++++++++++++++++ Good rule to note. Also came 
with my first audible alert: SELL signal at Ask=118.53

The alert is how you judge for accumulating the pips to the Parabolic. So if your late on entry for the 
Parabolic then just wait - there will be plenty more to trade. 

††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††

The Red Arrow was the alert for the market crossing EMA. It hit the Parabolic and retraced back above 
the signal indicator and disappeared. In the data the signal is still there. But will show again on the next 
market crossing of EMA. The White Arrow is for the MACD zero crossing and will reappear on the opposite
direction pointing up. This is known as trading in the moment. Also take note of the Parabolic stopping 
the market on the down. 
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Quoting AndresSR
Entered long on the first psar hit at the H1 - out +20 pips

Excellent trade - Entry at the Parabolic. 

††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††

One thing you have to realize is EMA. That is the indicator that will make the choice of changing a chart 
trend. At this moment White/Purple is now resistance. And on the next candle if Smooth cross Purple 
then you are the first stage of a reversal. And then EMA and Parabolic will follow. But --- you cannot 
anticipate this all will happen. For one - Smooth can slide under Purple to keep the trend up: Or - EMA 
slides under Purple to keep the trend up. Consolidation is a reckoning for reversals or sliders. 
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The entry for this down was the SAR hit at 118.644 on the 1 hour:- Since the candle was developing at 
the time the SAR was attached to the candle - the entry was right at the Parabolic. And there were 4 - 1 
hour candles with the Parabolic hit. 

Just remember what I had said about the Parabolic hit and that is on any chart. You take entry with the 
hit and there are times you will have a great visual with the SAR. 
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Quoting ForexSamsam
I use on H1 the touch of the Psar and the parabolic as entry pont for a long. The H2 is 
always in uptrend and the pair goes below the ema support {image}

This was a very good thoughtful and insightful entry. The reason is because he tagged the 1 hour 
Parabolic and also the 2 hour EMA being tagged in the uptrend. The 1 hour is also still in the uptrend with
EMA below Purple. Will he get 20 or +?. The possibility is not great but probability is a consideration. And 
the reason is because the 2 hour market is below Purple working on a consolidating situation. 

€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥
€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥



pg 23

Being a teacher I have always learned in order for knowledge, wisdom, and understanding to be applied 
it begins with basic. First I must give a complete revolution of how the system works; and this step is 
applied with a continuance of references. The next step is witnessing mistakes from the references and 
make corrections in the direction which the mistake should had not been made. And believe me; this is 
not easy because of the way people think. So a continuance of corrections or forth going.

This system was built to trade in the moment which is also looking into the future. And the question I 
always get is how do you trade looking into the future?

Believe it or not - this is not complicated at all. It is the same thing as ROMAR vs EMA I had recently 
posted. And it is also the same reference as Consolidation vs Trends. So take a look at this tight 
consolidation we just had after opening yesterday:



The very first step for a consolidation and/or trend is the White crossing Purple. From that point you are 
looking into the future. The first thing you notice is if the crossing is with the ROMAR trend or is it a 
counter-trade. This also eliminates the Parabolic support/resistance because in consolidation with the 
White/Purple crossing; you then have a market up and down. On the picture with the first arrow you had 
the White/Purple crossing with an open candle below Smooth and just above EMA which was a counter-
trade against ROMAR. On the second arrow you had the White/Purple crossing with an open candle above
both EMA and Smooth and into the trend with ROMAR. The parabolic had been eliminated with the 
White/Purple crossings and that was an entry going into the future. 
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Trading is a threshold of owning your own business. It is your life; your profession, and no-one is going to
take care of your business accept for yourself. To be successful with your business you must have rules 
and a passion in seeing your business making profits.

Owning your business in a new profession you must first learn the structural components of that business
in such a way; that profits can be accumulated to be successful. And trading is no different. You may 
have the passion but it too is useless if the desire in learning is lacking. Your own intellect can only 
accomplish with what knowledge you have gain with the structural components of trading. If you are 
lacking knowledge then your future with the business is a failure.

There are several components with the structure of trading. And today I will start with the first one.

A daily trading plan:

A daily trading plan is the most important element for the start of your day, as you sit down with your 
trading station. And the question I ask: How can you trade without knowing whats happening in the 
market? And the answer is you cant. You can sit there for hours on end and miss the entries without the 
knowledge of what is truly happening. Your own thinking and intellect is powerless without the knowledge
first.

I will give several trading plans as scenarios so you may gain the knowledge in what you are looking for. 
To begin with; place your plan on word or note pad so you can print it and place it right there next to you
on your trading station. This plan is your reference and you will need it until you reached your profit.

This is what my template looks like to create my plan.

DAILY CHART - DATE:
ROMAR:
EMA:
Parabolic:

NOTES:

2 HOUR CHART:

Opening:
ROMAR:
EMA:
Parabolic:

NOTES:

1 HOUR CHART:

ROMAR:
EMA:
Parabolic:

Notes:

Entry:



To be fair I will be using my actual trading charts for the MT4. My charts are with ROMAR, EMA, the 4 
horsemen, and Fibo with only the MACD zero crossing for an alert. And the reason is; because I can read 
into the future. And you need to get to that point with your charts so you can also do the same. So until 
then; leave your charts as is.

We will start with the Daily. The Daily chart is only reference for support and resistance

DAILY CHART - DATE: 12-30-15
ROMAR: Resistance
EMA: Resistance
Parabolic: Resistance

NOTES: All three support/resistance are in compliance for a strong downtrend.



2 HOUR CHART:

Opening: 120.499
ROMAR: Resistance
EMA: Support
Parabolic: Support

NOTES: The 2 hour is in a swing with White at the crossing of Purple and eliminates the Parabolic as 
support. Smooth and EMA are shallow for the crossing with Purple. The daily is showing a strong trend 
and the 2 hour is showing the crossing of purple with opening at EMA.



1 HOUR CHART:

ROMAR: Support
EMA: Support
Parabolic: Resistance

Notes: The 1 hour had finished the upswing with Smooth in the daily downtrend. The signal for the zero 
crossing had shown with the previous candle. The Parabolic is already in the downtrend as resistance. 
Both ROMAR and EMA are at the crossing of the Purple that is already strong for the downtrend.

Entry: The 2 hour is showing the Parabolic as support but also eliminated with the White/Purple crossing. 
It will take the hidden LR to flip the parabolic and with the down being strong I will take entry with the 
next 2 hour open candle and/or, the retrace toward the parabolic.

++++++++++++++++++++++++

And on the next candle is where I made my entry for 40 pips.

Now my question is: Would I have seen that entry without my trading plan? The answer is no because I 
would not had seen it without my trading plan. I would have still been looking for an entry. 



††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††

OK lets move on to an uptrend.

DAILY CHART - DATE: 12-01-15
ROMAR: Support
EMA: Support
Parabolic: Resistance

NOTES: On this daily is showing an ending of a swing consolidation with ROMAR as support. 
White/Smooth had crossed Purple and is support with EMA at Purple for support on the uptrend. The 
Parabolic had been eliminated as resistance with the White crossing Purple. The upper Bollinger Band is 
within striking distance for a hit.



2 HOUR CHART:

Opening: 122.848
ROMAR: Support
EMA: Support
Parabolic: Resistance

NOTES: The market opened on top of ROMAR support with EMA on top of Smooth/White in a consolidated
shallow swing. The parabolic is also holding resistance.



1 HOUR CHART:

ROMAR: Support
EMA: Support
Parabolic: Resistance

Notes: ROMAR is sliding under EMA in holding EMA as support with the white crossing.

Entry: According with the Daily chart the swing had ended with White, Smooth, and EMA crossing purple 
for the ROMAR uptrend. The 2 hour is very shallow with EMA, Smooth, and White very tight. And the 1 
hour is finishing up its swing. With ROMAR holding support just under the 4 horsemen and resistance 
being tight above ROMAR; the best entry would to wait for an open candle above either Smooth or EMA. 
Which ever come first? That places market above purple for the uptrend.

*******************

It was the 2nd 2 hour candle after my trading plan that opened above Smooth and took entry. And that 
was a 40 pip trade. 
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Let me now try to bring it all together as a visual on the charts. You have to always remember That 
ROMAR is trend on all charts.

Long term trend is ROMAR on the DAILY. And what determines ROMAR as trend (on all charts) is when 
ROMAR crosses EMA. So lets say ROMAR is holding support for the UP and then crosses EMA; ROMAR 
then changes from Support to Resistance; such as on the Daily. If you look on your Daily you will see 
where ROMAR crossed over EMA from Support to Resistance.

In order for the Daily ROMAR in becoming support once again; it must cross over EMA for that to happen;
this also true on all charts. And because the Daily ROMAR is Resistance and the 2 hour is Support we are 
in consolidation. Which means the market is in a continuance swings of ups and downs.

EMA is the secondary trend with the swings for the charts. And with a consolidated market EMA is always 
in and out of support and resistance. And what changes EMA from support to resistance and vise-versa; 
is crossing Purple. And it is a daily routine with EMA in consolidation with continuance swings.

The picture below is the 1 hour and gives a detail example of EMA. And the 4 horsemen will give you the 
opportunity for entries.

Starting from left of the chart you have "EMA Crossing Purple". And when you are trading keep in mind 
what the Daily is saying to you with your Trading Plan.

Coming out of the upswing you already had Smooth as a slider over purple with White crossing into the 
downswing. EMA is tight with an open candle below EMA changing from support to resistance in crossing 
purple. You also had the lower band with ROMAR as SUPPORT and ROMAR is out of the trading area. 
Trading area is between the bands. Which means it would be almost impossible for a hit on ROMAR being 
outside the trading area in consolidation. So it hit the band and retraced back to resistance.

Next: "White - Crossing - Purple".

You have the White crossing Purple for another swing. EMA is resistance and so is the Parabolic. But the 
Parabolic is ELIMINATED.

Let's get a better understanding of what it means for the Parabolic to be eliminated. Once White crosses 
Purple with the parabolic opposite of the crossing; one of two things will happen in consolidation.

One: it will bounce off the Parabolic.
Two: The market will break the Parabolic with an open candle on the other side of the Parabolic.

If it bounces the Parabolic will stay in trend. If the market breaks the Parabolic the Parabolic will flip on 
the next 1 or 2 candles. That is what being eliminated means. You do not know what will happen with the
Parabolic until it happens.

Next: "EMA - White - Smooth - Parabolic".

The Parabolic held as resistance with the market bouncing off the Parabolic and is now in the downtrend 
against ROMAR support with ROMAR coming back into the trading area. You have an open candle below 
both EMA/Smooth as resistance; and the 4 horsemen are set for the trend down.

This is the 1 hour chart and is not the same as the 2 hour. This means the 1 hour ROMAR will be hit first 
and then the 2 hour will be next. If the market bounces off the 1 hour ROMAR then that is it; if the trend 
is not strong enough for the continuance of the 2 hour ROMAR. In this situation the 4 horsemen are 
strong in the trend with White showing no crossing. So the market continues on for the 2 hour ROMAR. In
this trade the market got below the 2 hour ROMAR as SUPPORT and closed as support. On the next 2 
hour open candle the retrace back across the 2 hour ROMAR Support was automatic. And the reason is 
because the 2 hour ROMAR (IS) support until crossing its own EMA.



NEXT: "ROMAR - EMA - White".

You now have the White crossing Purple to end this swing. ROMAR is still Support and the market must 
get above ROMAR as support. EMA is resistance and sliding over ROMAR for the support. The Parabolic 
was eliminated with the open candle above the Parabolic and flipped on the next candle. The entry for 
this 1 hour was with the 2 hour open candle below the 2 hour ROMAR SUPPORT.

Next: : "White Crossing Purple".

The White crossing Purple had ENDED this swing up. The next open candle was at the crossing and was 
also entry for this swing down to ROMAR. And the reason is because White had automatically changed 
from support with the Purple crossing to resistance; and the Parabolics had then been eliminated as 
support.

Spend a lot of time with this post and structure what is happening with these indicators. This post is the 
only way you will beat the consolidation. And that is understanding what the Paradox is saying to you. 
Gain the knowledge and use it.
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Quoting cfudge
{quote} Now PSAR has flipped on 2hr I have shorted back to Daily ROMAR area for 20 pips. 
Hopefully quick in and out. Yes Dove I know it is against SAR but we have room Long term 
SAR at high on daily

You trading against a 2 hour candle that is still moving and that flip of the parabolic is not set until the 
ending of that 2 hour candle. Which means - it still can be up at the ending. 
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Quoting woww
dear dove, it' the firsth time that i look the chart (H2) with PSAR between EMA and Smooth..
is it a particular aspect?

No its not; once the parabolic gets in between EMA and Smooth the trade is coming to an ending. Either 
a turn or a slider. 
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Traders - your focus is wrong. Place your focus on the SAR with the Parabolic trend and you just might 
see things differently.

Let me explain this entry once again:



Going back 4 bars from the 122.443 price sticker you will see the retrace candle to EMA. Both EMA and 
the Parabolic are heavy in the downtrend. And if a trader was smart the entry back into the trend was 
with the next open candle at Smooth; and/or another trade to make up the retrace if you were already in
the trade. As you can see this was a White slider with Purple.

The ending of this trade was at the Fibo and the next candle retraced once again and came back for the 
Fibo and DID NOT continue below the Fibo for the trend accept a few 10th’s. The next candle retraced 
once again and OPENS above White WITH the MACD crossing the ‘0’.

This was entry for these reasons:

1 – The White at Purple eliminating the Parabolic as resistance.
2 – EMA may or may not hold resistance and enough profit for B/E if EMA holds resistance.
3 – The ‘0’ crossing of the MACD was the best signal of the 3.

The market got above the Parabolic and placed the SAR on top of that candle getting above the Parabolic.
And this meant the trend was in for the up. On the next candle you had the SAR moved over to the up 
movement and began to retrace for the Parabolic which is now SUPPORT

On the next candle the parabolic flipped and on the following candle the DB attached verifying the trend 
and upstairs it went with both the DB/SAR running together. Also note – which is very important. The 
Green Arrow had shown its face with the touch on EMA and VERIFING the trend up. At that point I had 
nothing to worry about.

Now – get your mind wrapped around this because you will run across this scenario many times on 
beginning of a new swing or trend. 
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Snfx plan for his notes on the 1 hour says:

NOTES: We had last close above PSAR with Smoth crossing Purple indicating continuation of UP swing 
trend, price at opening have White Smooth crossing

By indicating the Smooth crossings pretty much eliminated the Parabolic. 

††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††

The only way that will bring the Parabolic back to resistance is with the EMA sliding over Purple and not 
crossing Purple. Then this will keep the Parabolic as resistance. This is one of many reasons in not 
anticipating because of the sliders. And this being a Daily - much can happen in a 24 hour period. 
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With the White/Purple crossing eliminates the Parabolic as resistance. The flip of the Parabolic is what 
changes from resistance to support.
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Price is oblivion with the Paradox. Price has ABSOLUTELY nothing to do with the Paradox.

1. ROMAR crossing EMA determines Support and Resistance for long term trend. If the trend is down it is 
with ROMAR above EMA and vice-versa.
2. EMA crossing Purple determines the short term trend. If EMA crosses the Purple from bottom then EMA
trend is support and vice-versa.
3. White and Smooth crossing Purple determines the beginning of the 4 horsemen trend looking for the 
Parabolic flip.
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I am not here to train but to post some advice; and one of the greatest advice an experience trader gives is you 
never, ever trade against the trend. It matters not if the market is ranging or consolidating - there is always a 
trend.

The Paradox was given to you with rules that are set in stone; and if you break the rules - you will lose. If you 
create your own rules - you will lose. If you try to interpret or shift the rules for your own benefit, and/or what 
you think will happen - you will lose. 

I have stated it very clearly throughout my tutorials that the 1 hour chart (H1) IS NOT A TRADING CHART but 
ONLY a reference chart for the 2 hour (H2) chart which is your trading and trend chart. The 1 hour is only a 
reference for syncs WITH the 2 hour chart. And by trading the 1 hour chart takes you into the perfect storm of 
becoming a loser.

There are only two venues of being a trader:

1 - being objective.

Or:

2 - being subjective.

Being objective is also being steadfast with faith, believing, and controlling your own emotions.

Being subjective is also being intimidated with the market having control.

Being objective means you never, ever chase the market but let the market come to you.

Which chart controls the trend? The answer is the H2 chart.

What is trend with the H2 chart? The answer is ROMAR as primary and it changes trend when it crosses EMA. 
Above EMA is in a downtrend - below EMA is in an uptrend. Your secondary trend are the Parabolics. And the 
Parabolics is in control of the 4 horsemen. This means if the Parabolic does not flip then you are in a slider 
going back into the original trend.

The only way the market can change direction (either reversal or swing) is with the FLIP OF THE PARABOLIC. 
And that is with EMA at or crossing Purple. If you are trading against the parabolic trend then you are also 
losing your trades. Which also means you are breaking the rules of trading.

The Paradox is telling you a story from bar to bar and I havent seen anyone listening to what the Paradox is 
saying.

The greatest mistake a trader can make is predicting or thinking what the market will do. The Paradox is 100% 
correct but your thinking is not. You would be lucky to be 30% correct with your thinking.

I also see a lot of trading plans correct in matching the H1 in sync with the H2. But those plans are very seldom 
ever traded. That means too much fear in believing what you are seeing not being true. This traders is what I 
would call shameful in not following through with your own plans. Because someone says something that does 
not match up with your plans does not mean that person is right. On the contrary - you are right. Your trading 
plan is your greatest tool in getting you into the right trade (provided your plan is with the trend). And getting into
the right trade is when the H1 is in sync with the H2.

Below is a screen shot of my entry Tuesday on the H2 chart. It is showing two entries and I took the second 
entry with the Parabolic. And why would I wait on the second entry. The reason was because of the Daily 
Uptrend. I was waiting on the market to make its way to me with the Parabolic. The market is up with the Daily 
and it was going nowhere but up once the H2 Parabolic had flipped. It was then in sync with the Daily.

With this entry I rode the trend. When the SAR retraced on the H2 I took a second entry and rode both entries 
to the top. Because of the rule of first in and first out I took 210 pips with the first entry and then 131 with the 
second entry.



The rules are set in stone for a reason. Continue in breaking the rules and you will continue to be a loser.

Everything is there for you in all of my tutorials - nothing has been left out. All you need to do is learn the rules 
for trading.
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Before I cal it a night I must remind everyone on the Daily you had the Parabolic as support and the open
candle was just below the Parabolic. It was going up no-matter what. And if it wasn't for the BOJ I still 
had been in my trade. But one thing I never do is risk a trade on a maybe.

††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††

I just noticed the BOJ released happen at 21:51 --- Early this month and continue on up with the Daily 
Parabolic support. 
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Traders - let me try to revolutionize something for you. The Parabolic; just like every other indicator of 
the Paradox are not standard. The Parabolic is flipped mathematically with a hidden LR and not by a 
candle. Once the Parabolic on the H2 is in sync with the Parabolic Daily chart then there is no stopping 
the trend. You will have your sliders and retraces off resistance/support, depending on direction with the 
H2; but it will diffidently turn back into the Daily Parabolic.

When you are creating your trading plans your TOTAL OBJECTIVE with your plan is the TREND; and 
nothing else. This also includes the Parabolic Trend. If you are looking to counter-trade the Parabolic; 
then all I got to say is: good luck. In other words - your total objective is being focus on the trend. The 
trend is ROMAR, EMA, and the PARABOLIC. Once you have the trend set on both the H2 and Daily - then 
the H1 will be your confirmation for entry into the trend. Your trading plans should only be referencing 
the trend and nothing else. Even in consolidation - there is a trend. Trying to look both ways will only 
distract the fact of the trend. Focus only on the trend and you will go a long ways from where you are at 
now. 
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There are three trends - EMA crossing Purple changes the EMA trend. ROMAR crossing EMA changes the 
ROMAR trend. Flip of the Parabolic changes the Parabolic trend.

††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††



On this first screen shot and to the left you have ROMAR as support, the Parabolic as support, and EMA 
as support. Then you had EMA cross Purple and EMA had become Resistance. You also had the Parabolic 
flipped which place the Parabolic as Resistance; leaving ROMAR as support and in consolidation.

About 18 hours later you had EMA cross Purple again and had become Support. The Parabolic has flipped 
and became support. This place all three trends in trend for the up. Take note that ROMAR remain as 
support because it did not cross EMA.

On this next screen shot you have to the left an uptrend with ROMAR, Parabolic, and EMA in an uptrend. 
You had the market turned and then EMA crossed Purple in changing from support to resistance. The 
market went sideways in consolidation until ROMAR crossed EMA and became RESISTANCE for a 
downtrend. Also note the Parabolic had become your resistance for entires. Also note how EMA held 
resistance for the trend by sliding over purple for each slider.
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Alright - lets get the controversy straight over support and resistance along with trend and consolidation:

The first step is to ALWAYS be objective and never let the market subject you into thinking about "what 
could be" or "what could of". Your total objective is on Support, Resistance, and Trend. If the market tries
to get you to think outside of these three objectives, then you are on your way of being a loser.

What is support and resistance? Well - lets think of it in the Paradox realm. In the Paradox realm it is a 
constant movement from bar to bar. It is not a drawn line you create on your chart. It is ROMAR; it is 
EMA; and it is the Parabolic's.

What is the Trend? ROMAR in relationship with EMA; EMA in relationship with Purple; the Parabolic in 
relationship with Smooth. When you have the 4 Horsemen in trend then you have Purple - both support 
and resistance; Smooth - both support and resistance; Parabolic - both support and resistance. If you 
have an uptrend with the 4 horsemen then each of the 4 horsemen are support and vice-versa.

Now - lets say you have the Daily ROMAR holding support. You also have the 4 horsemen in the uptrend; 
and EMA had crossed Purple and is also support. What do you have? What you have is Daily FULL BLOWN
UPTREND. What is the objective? The Objective is waiting on the H2 to also fall into the Daily full blown 
uptrend, and then you pull the trigger for the long. And vice-versa.

This is only one scenario of many with the Paradox. The Daily leads the way for a trend. Consolidation is 
when any objective is not the same on either the H1 and H2 charts as the Daily. Such as ROMAR on 
either the H1 and H2 opposite of the Daily; EMA support/resistance opposite of ROMAR's 
support/resistance on any chart; the 4 horsemen opposite of one another on any chart. Any chart that is 
not in compliance with the Daily you are in consolidation. In order for you to have a trend - all three 
charts MUST be in sync and in cycle for the trend. Other then in sync you are in consolidation.

Consolidation can be sideways, cycles with the 4 horsemen, swings in the trend, sliders, and ranging. 
ROMAR and EMA is the sole condition for what scenario will play in the consolidation. ROMAR is the major
support/resistance for the chart's trend; and EMA as support/resistance for everything else. But you have
to always remember every scenario is different and does not relate with one another. Trend has it own 
scenario. A scenario for an uptrend and scenario for a downtrend. Support has its own scenario; and 
Resistance has its own scenario.

Conclusion - ROMAR, EMA, the 4 Horsemen, are ALL support and resistance and the true OBJECTIVE of 
the Paradox. If you try to define the objective other than what it is; then you are on your way of not 
finding your way. You have to define your own thinking as the Paradox was intended to be; which is 
SUPPORT, RESISTANCE, AND TREND. The bottom line - once you have define each scenario with the 
objective then you are on your way to freedom. 

††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††††

Let me list the OBJECTIVES:

1 - ROMAR
2 - EMA
3 - Purple
4 - Smooth
5 - Parabolic

These 5 above is the objective for support and resistance. Everything else does not matter with getting 
you into the right trade. 

€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥
€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥€$£¥



pg 409

Quoting Therapsid
{quote} I've been carefully studying and rereading Dana's most insightful post and even 
though I've read every single page from the beginning Dana here mentions something that 
somehow I apparently totally missed. In regard to Trend (third paragraph) he mentions the 
ROMAR EMA relationship, the EMA Purple relationship and then a Parabolic relationship with 
Smooth. "The Parabolic in relationship with Smooth." is new to me. I do understand 
Smooth's above/below relationship with Purple; but the Parabolic Smooth relationship is 
something I need help studying....

I have stated it a times or two in my tutorials how Smooth is referencing with the Parabolic flip. Smooth 
must also cross Purple with - or before the Parabolic flip. And there are times Smooth will not cross but 
stay in trend with the Parabolic. If you back test you will see how this is reference with the Parabolic in 
relationship with Smooth. 
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Rules for determining consolidation:
a: All 3 charts determines consolidation. If one of the 3 charts is not in sync you are in consolidation.
b: If ROMAR, EMA are opposite of one another on any chart you are in consolidation.
c: White crossing Purple on any chart places the whole system in consolidation and setting up for a 
reversal, a swing for a new cycle, ranging, or sideways consolidation.
d: If the Parabolic's on any chart is opposite of the other charts you are in consolidation.
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What is Confluence?

Confluence: a situation in which two things come together or happen at the same time.

Essentially confluence represents two or more things coming together at the same time. In terms of 
trading, we can say that confluence is when two or more factors come together at the same place on a 
chart or two different charts.

Examples of these things might be a key support or resistance level, Divergence with buy or sell signal, 
or even something as simple as a strong trend on two charts. All of these things form what well call 
Confluence Factors. In other words a strong trend might be one factor; Divergence might be a second 
factor and so on.

Putting the Odds in Your Favor.

I think I can be so bold as to say that consistent profits are the goal of every serious trader. So why then 
do only a small portion of traders make it to this level? It all comes down to the use of confluence. Those 
traders who can be called consistently profitable have found a way to identify and harness the power of 
confluence in a way that puts the odds in their favor.

The ability to put the odds in your favor is what trading is all about. Figure out a way to do this over and 
over again and you'll be well on your way to becoming profitable. This is where the combination of 
various Confluence Factors comes into play. In other words; the more Confluence Factors present on any 
given setup, the greater the odds are that the setup will move in the intended direction.

Putting the Power of Confluence to Work.

We all know that trading with the trend, or path of least resistance, is always a good idea. At the risk of 
sounding cliche, the old saying, "the trend is your friend" is absolutely true in my experience. Even in 
consolidation placing the Confluence Factor into place is very profitable.



The major problem is in creating your trading plan. When creating a trading plan you must be alert 
mentally with confluence in all three charts. Most times confluence is showing as you go through the 
scenarios on your plans. As you place together your final notes you will see confluence ; either already 
there or constructing a confluence.

One thing you have to always keep in mind and that is how support/resistance is constructed from one 
chart to the other. Such as ROMAR: H1 will fist show the change of the ROMAR trend in crossing EMA. 
Next is the H2 will follow suit. Once the H2 ROMAR is in the trend then the Daily ROMAR will be hit. Then 
a process of days for the Daily to break ROMAR or Hold its footing as Support/Resistance. That in itself is 
confluence.

The same with the 4 Horsemen on the H1 in consolidation once the Horsemen are in place on the H1 then
H2 is next. Once the Parabolic had flipped on the H1 then be looking for the H2 Parabolic confluence. The 
only problem is recognizing sliders which is very easy.

Once the H1 Horsemen are in trend with the Parabolic flip, then show patience with the H2. If the H2 EMA
DOES NOT CROSS Purple on the next candle of the SMOOTH crossing then be looking for a slider and/or 
a shallow swing of 20 - 60 pips. If you get both, or either, the DB/SAR on the slider then entry is made 
with confluence.

This is only a couple of examples as the confluence variables are endless within the Paradox; in both 
trend and consolidation. All you need to do is gain patience and learn. With this virtue of patience you will
be able to tap into the power of the Paradox and gain a very substantial amount of wealth.

Most traders have too much baggage from previous past and was never taught the power of confluence. 
They were taught price action, drawing trend lines, believing in news releases, etc, etc, etc. But never 
taught how to tap into confluence with proper indicators. And if you need too; then start over in learning 
how to create a trading plan looking for confluences. By tapping into confluence you will be surprise how 
easy it is to read trends and consolidated trends. Bottom line - confluence will guide you into the right 
trade. All you need to do is study the charts in how confluence works.

CONFLUENCE - two or more "things" coming together at the same time (point) either on one chart or 
multiple charts.

THINGS - support, resistance, and divergence. 
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After I have done my share of studying each trader's postings with trading plans - I am finding most are 
still lacking in how support and resistance works with the Paradox. The problem is not recognizing the 
support/resistance on trading plans; the problem is executing the process of S/R. I can understand this 
very well due to past history. Support and Resistance for most traders concerning is to do with Highs, 
Lows, PA, S/R in past History, and various other S/R's. So - the S/R's with the Paradox could be 
completely out of everyone's league.

Lets start with ROMAR/EMA - your two main Support and Resistance for the Paradox.

ROMAR crossing EMA changes both EMA and ROMAR support/resistance. If ROMAR crosses EMA from 
below with ROMAR/EMA being support at the crossing; you then have an automatic change from support 
to resistance for both ROMAR and EMA and vice-versa. Now - lets stop here and try to imagine this.

If You have ROMAR as support with EMA above Support means EMA is also Support.

If you have ROMAR as Resistance with EMA below ROMAR means EMA is also Resistance.

The problem most are having is connecting the dots with ROMAR and EMA. This scenario is very crucial in
consolidation when you have both ROMAR/EMA in a tight squeeze going sideways. In this scenario is 
when you get into the Ranging mode with EMA crossing Purple for the swings. In an uptrend you have 
ROMAR sliding under EMA support in swings. For a downtrend you have ROMAR sliding over EMA 
resistance in swings.



There are times you will have ROMAR/EMA at purple - lets say both are support - First you have EMA 
crossing Purple which changes EMA to resistance and here is the problem - EMA is only resistance for the 
4 horsemen and not resistance with ROMAR. EMA is still Support with ROMAR until the crossings. This 
means ROMAR is still support, can, and will, slide under EMA to hold EMA as Support and vice-versa.

Now - lets say you have a 100+ pips between EMA Support and ROMAR support; and you have EMA 
swinging into a downtrend with the 4 Horsemen. What do you have? You have an EMA consolidation 
against the ROMAR trend. You also have EMA being both Support and Resistance: Support with ROMAR 
and Resistance with the 4 Horsemen.

Lets move on with EMA/Parabolic

90% of the time when EMA touches Purple the Parabolic will flip. The other 10% is on the next open 
candle. If the Parabolic flips and EMA crosses Purple from Resistance and becomes Support - with ROMAR
as resistance; and 20 - 30 pips from the EMA crossing - then you better believe in ROMAR. It will hold 
Resistance.

Lets move on with ROMAR/Parabolic.

If you have ROMAR as Support; EMA as Resistance with the 4 Horsemen as a resistance; then believe in 
the Parabolic - it will hold Resistance. And believe in ROMAR as it will hold support. This scenario usually 
represent a sideways move jumping between support and resistance until a breakout. The best way to 
recognize a breakout is with ROMAR crossing Purple with a Parabolic flip. If the Parabolic doesn't flip then 
be careful.

The beginning of your trading plan starts with ROMAR - EMA - and Parabolic.

Daily:
ROMAR -
EMA -
PSAR -

Notes: 

2 HR:
ROMAR -
EMA -
PSAR -

Notes:

1 HR:
ROMAR -
EMA -
PSAR -

Notes:

Final Notes:

Why is this so important? It is important because the 3 charts will tell you exactly where the trend is for 
one; and secondly if the market is in consolidation.

Let's take Friday's open 17:00 candle.

Daily:
ROMAR - Support
EMA - Support
PSAR - Support

Notes: The trend is up



2 HR:
ROMAR - Support
EMA - Support
PSAR - Support

Notes: The trend is up

1 HR:
ROMAR - Support
EMA - Support
PSAR - Support

Notes: The trend is up

Final Notes: All three charts are in the uptrend. Entry long with the open 17:00 candle.

With this trend accounting what do you see? What I see is a total and complete full blown uptrend. This 
also means I just pick a bar on the downside and pull the trigger and then walk away.

Lets go back to Wednesday of last week with the 17:00 est bar:

Daily:
ROMAR - Crossed Purple heading for EMA: ROMAR holding both S/R
EMA - Support
PSAR - Support

Notes: Parabolic is up.

2 HR:
ROMAR - Support
EMA - Support in a slider below Smooth
PSAR - Support

Notes: Parabolic is up.

1 HR:
ROMAR - Support
EMA - At Purple for a crossing for resistance.
PSAR - Resistance

Notes: Parabolic is down.

Final notes: ROMAR on both H1 and H2 is holding support. Parabolic on the H1 is Resistance with the H2
and Daily Parabolic as Support. Need the H1 Parabolic flip for entry going long. Take entry with the 17:00 
bar.

What does this all mean?

You have the Daily with ROMAR crossing Purple and heading for EMA. The previous candle is balanced 
with Purple. You also have EMA support at the crossing of Smooth with the Parabolic set for the uptrend.

The H2 you have ROMAR Support with the Parabolic Support. EMA is also support with a crossing of 
Smooth. What makes this H2 a great entry chart is with the Parabolic above ROMAR for a tag.

H1 you have ROMAR Support with EMA at the Purple crossing to become Resistance and the Parabolic as 
Resistance.

Bottom line - the market is in consolidation with the H1 chart mainly because of the Parabolic. Without 
the Parabolic flip you have ROMAR on both the H1 and H2 holding support waiting on the H1 Parabolic flip
for the trend. Once the H1 Parabolic flip you have all three charts with a Parabolic trend and it will take 
off and turn all three charts into a full blown trend. And it is all because of the Parabolic.

What most of you, if not all of you, are not understanding is the power of the Parabolic's for Trends, for 
Support, and for Resistance. Working the Parabolic with ROMAR on all charts will take you exactly where 
you need to be.



Food for thought - Your best trades are with the Parabolic and ROMAR syncs within both the H1 and H2 
charts. If you do not have a sync then you are in consolidation and wait for the sync. If you get the Daily 
Parabolic sync with the H1 and H2 then you be looking at some major pips. 
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I've had questions on how one can gain an "edge"?

One great thing about the Paradox is that the variables are endless. Which means each variables has it 
owns scenario, and the edge on each scenario is also limitless.

So lets look at a few entries as an edge.

Parabolic
SAR
ROMAR

The edge for entries are:

A hit on the Parabolic
The attachment of the SAR
A Hit on ROMAR

These are just a few to get you started. As you noticed the "edge" is with support and resistance. The 
scenario with each of the three has their own rules for entries. All you need to do is study the rules for 
each of the three and use the rules for entry on each one - and you will see a dramatic change in your 
trading.
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SCENARIOS FOR SUPPORT AND RESISTANCE ON THE H2 ONLY

Scenarios for ROMAR:

ROMAR below EMA and Purple gives ROMAR the power for an uptrend. ROMAR above EMA and Purple 
gives ROMAR the power for a downtrend. EMA is the sub-power working with ROMAR on both uptrend 
and downtrend.

ROMAR crossing Purple changes ROMAR in being both support and resistance until ROMAR crosses EMA in
changing the trend; or sliding under EMA for a continuance of the original trend.

The market hitting ROMAR under Purple in an uptrend and closes below ROMAR. The Market will return 
back above ROMAR on the next bar and sliding under Purple

The market hitting ROMAR above Purple in a downtrend and closes above ROMAR. The Market will return
back below ROMAR on the next bar and sliding above Purple.

ROMAR going through CENTER (in and out of Purple) you are in a ranging mode. The SAR will show the 
ranging levels.

Scenarios for EMA:

ROMAR crossing EMA changes the trend and remains in the ROMAR trend until the next crossing.

All sliders with EMA is associated with Purple and/or the Parabolic keeping the trend in-tacked.

EMA is also associated with the 4 Horsemen in regards to either a slider (and/or) a change of swings. 
Changing a swing is with EMA crossing Purple.



Until EMA crosses Purple; EMA remains in the original swing (do not anticipate).

Scenarios for the Parabolic:

The Parabolic is one of the best weapons with the Paradox as for recognizing support and resistance in 
swings. 90% of the Parabolic flip is with EMA crossing Purple in changing the swing. The other10% is in 
the ranging mode.

The Parabolic is a substance of being very heavy as for support and resistance. Any hit on the Parabolic is
a hit back into the EMA trend; especially with sliders.

In trend the Parabolic can move the trend for 100 or more pips. Catching a Parabolic flip on the H2 is one
of the best entries that can be made; or a hit on the Parabolic for an entry back into trend.

ROMAR Entries:
1. ROMAR crossing EMA.
2. A hit on ROMAR with a slider of EMA or Purple.

EMA Entries:
1. EMA crossing Purple.
2. A hit on the EMA trend.

Parabolic Entries:
1. Parabolic flip
2. Parabolic hit.

These scenarios are not for the 1 hour chart. They are used with the 2 hour and Daily charts only. Back 
test and see all these entries that are being missed. One right after another. Day after day.

Creating a trading plan is about seeing every opportunity for an entry. All you are looking for is a 40 pip 
entry even if the entry is off support or resistance of one or more from the descriptions above.
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I was asked how did I know we were going into an uptrend ranging mode? The answer is with the Daily 
Parabolic.

Taking a look at the picture below you will see the Beginning of the Uptrend Ranging. First is ROMAR as 
support; and secondly the Parabolic is support.

When the beginning began the DB/SAR were connected at the text Beginning of Ranging at the Top of the
Fibo. There was no-way the market was going to turn on a dime for the simple reason the Parabolic was 
not in position to flip. Instead it went sideways for a few days and then the SAR connected for the up to 
reconnect with the DB which means higher high.

It got higher high and the SAR reconnected with the DB. The Problem is it will continue with higher highs 
because of the Parabolic trend. This will continue is a ranging mode until the Daily Parabolic flips. Nothing
will change that.

The next candle went higher high but retraced more than 50% of its candle; which means the next 
candle will continue south for the Parabolic. It hit the Parabolic and both the DB/SAR connected at the 
Parabolic. What you have now is the DB telling you the next connection for the DB is on the topside; 
unless the Parabolic flips.

As you can see the SAR reconnected on the top with the Fibo and without the DB. Then connected on the 
bottom WITH THE PARABOLIC FLIP.



With this Parabolic flip the Paradox is telling you a story:

The Parabolic on top is now the power for the downtrend. But you also have both the DB and the SAR on 
the bottom for the up. The SAR is locked in but the DB is not. Which means the next connection for the 
SAR is on top. The problem; the Parabolic on top for a downtrend until white crosses Purple could keep 
the SAR where it is at.

Since this is in a ranging mode; here is the scenarios. The White must cross Purple to eliminate the 
Parabolic power on the Daily. It will continue north for the either the SAR; or both the DB/SAR. Once they
are both connected together then we will have a reversal on the Daily.

The other scenario is the SAR connecting and continue south for the DB connection and then continue 
south.

Since we are in a ranging mode there is one scenario that is possible because of the Parabolic flip. And 
that is: The Parabolic will continue the market south and then connected the SAR first, then the DB next, 
and then continue south.

If you look at your H2 at this moment you will see the chart is in a EMA slider to continue up with EMA 
and the Parabolic holding support. This also verifies the market will continue up to reconnect the Daily 
SAR. But no-matter what scenario happens one thing is for sure; the H2 Parabolic must flip before going 
south.

As you can see the Paradox tells you stories from bar to bar. in using the Daily and the H2 charts ONLY. If
you continue to use the H1 as a trading chart you then will become a loser,
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Quoting Adaptation
Hello to all, I would like to firstly thank dove_alliance for this incredible masterpiece, this 
truly is a gift from God. I have been studying the paradox system for almost a month now 
and feel like I've had great progress. This is a real breath of fresh air after having tried so 
many things. Soon, I will start posting my trading plans for evaluation and feedback. For lack
of time, (I study full time) I haven't been able to put the time I would like to learn every 
aspect of the paradox. I will soon, as I will have a two month vacation. However,...

Welcome aboard trader and keep studying as you will learn more than you can dream of. So, lets get the 
slider right:

You are right with the White crossing going into consolidation. But Smooth is the signal indicator for a 
slider, along with EMA. One thing to focus on is with EMA crossing Purple in a slider. The Parabolic will not
flip until EMA touches Purple for a crossing; it is then the Parabolic will flip. This is ONLY on the H2 chart.
Smooth will always stay under White for an up slider and above White for a down slider.

There are times a slider can go many, many bars and can reverse the market. How you can visually see 
this is with Smooth and Purple. If you had just came out of an uptrend and into a consolidation and the 
market is then going sideways with the indicators compressing together. The Parabolic is also moving 
closer and closer towards EMA from the uptrend. Now you have a consolidation totally compress together.
With this compression this is what you will be looking for.

For the slider:

If EMA is above Purple and the Parabolic still having the Power - which it will - then you will have a power
candle that will get above EMA with Purple pointing up and all three: White, Smooth, and EMA will 
Recross Purple for the slider back into the Uptrend.

For the Reversal:

If EMA is below Purple with White and Smooth Above Purple and the Parabolic is still holding power for 
the up. What you will have is Smooth crossing White above Purple pushing Purple down for the EMA 
crossing and the Parabolic flip; and you are in a reversal.

These scenarios are on the H2 chart ONLY. Attempt these scenarios on the H1 and you will be burn.

Your stop is ALWAYS 40 and not 60. If you had made the right entry your 40 will never be hit.

There is not one scenario you can think of that the Paradox will do for you. All you need to do is study all 
scenarios and the Paradox will show you how it is done.
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I am going to explain this one more time;

You have 3 trend indicators.

1. ROMAR - Chart trend indicator.
2. EMA - 4 Horsemen cycle indicator
3. Parabolic - 4 horsemen trend indicator.

I am using the H1 chart as an example because what I will explain is exactly the same on the H2 and 
Daily.

On this screen shot below you have ROMAR as support. It remains as SUPPORT until it crosses EMA - 
then it becomes RESISTANCE. This is the only time EMA and ROMAR are related is with the crossing.

On the Left side you have EMA crossing Purple with the Parabolic flip which placed EMA as support which 
had placed this chart in a full blown uptrend with ROMAR, EMA, and the Parabolic in an uptrend as 
support.

On top you have EMA crossing Purple with the Parabolic flip as RESISTANCE and ROMAR as support. 
Because the Parabolic is the power with the 4 horsemen in trend; ROMAR will be broken as shown on this
screen shot.



This is why the H1 is not a trading chart:
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Quoting Adaptation
{quote} That trading can be both ways during consolidation and white crossing purple puts 
the chart into consolidation, so yes, we can go short.

Everyone gets that wrong:

White crossing Purple does not eliminates the TREND nor puts the market in consolidation. All it does is 
eliminate the power of the Parabolic in consolidation. The only thing that eliminates the Trend is the H2 
Parabolic flip. It is then you are in consolidation and you can trade both ways.

Even if the market goes sideways in trend the market is still in trend. Going sideways gives the market a 
chance to reverse with EMA and the Parabolic holding the trend and then reverse with the H2 Parabolic 
flip. And going sideways does not mean you can trade both ways. ONLY in consolidation can you trade 
both ways and there are many variables as for consolidation and you need to know all of the variables. 
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You have to always remember that support and resistance controls everything within the Paradox. This is 
especially true with the Parabolic in trends and the SAR in consolidation. This is why traders will never 
make it trading the Paradox without the rules being applied. Once you try to find other solutions (that are
not within the rules) will only hurt you in the end. 
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The 4 Horsemen:

Four figures in the Book of Revelation who symbolize the evils to come at the end of the world. The 
figures represent: Conquest rides a white horse; War, a red horse; Famine, a black horse; and 
Plaque, a pale horse.. They are often call the Four Horsemen of the Apocalypse.

The 4 Horsemen are the basic of the Paradox.

Meaning of Paradox:

"A statement or situation that is true but seems impossible or difficult to understand because it contains 
two opposite facts or characteristics."

The two actions having seemingly contradictory qualities or phases is support and resistance. The reason 
is because everything within the Paradox is both - support and resistance in which everyone is having a 
hard time in understanding. In other words - each of the 4 Horsemen are both support and resistance. 
This also includes ROMAR and EMA.

What you traders are having a hard time with - is what you what have been taught in the past that 
support is bottom and resistance is the top; which is conventional wisdom. You have to realize the 
Paradox is by any means conventional. What you have been taught by others in the past has absolutely 
nothing to do with the Paradox.

This means you have to come out of the darkness and see things in a totally different light. You have to 
learn the truth of support and resistance within the Paradox. You have to learn in recognizing support and
resistance of each indicator. Each indicator within the Paradox is filled with power of support and 
resistance that is not seen on any other system.

What you have been taught as a trader that support and resistance are horizontal lines; but it is not so 
with the Paradox. Each indicator, being support and resistance, moves from bar to bar and changing their
location of power. If the trend is down then their power is moving lower lows; and vice-versa on an 
uptrend.

What you traders have are blinders on as if you are in a horse race. What you traders need to do is take 
off the blinders and broaden your understanding of what is true. Most of you are waddling in the garbage 
pit of your past history. Trying to hang on with what you have been taught. And I understand this 
because that is all you have to trade with.

This is why traders have a very hard time making it in this world of trading. The market is unforgiving 
and has no mercy. Without the wisdom and understanding of support and resistance then you will fail; 
just as those have which you had followed.

The mechanics of the 4 Horsemen is not complicated. They are a revolution of continuance cycles 
generating supports and resistances. You have to visualize the actual top from the bottom and the 
bottom from the top. You have to visualize sideway moves (sliders) and connect the trend with those 
moves. But most importantly - you must connect that little yellow dot (known as the Parabolic) as the 
source and true power of all trend cycles and reversals. That little yellow dot is the true revelation of 
when a cycle/trend begins and ends. And every time you counter-trade the Parabolic you will lose your 
trade. This is the reason the H2 is your trading chart (it is true in all aspects of the Parabolic). The H2 is 
not a standard trading chart. The power of the Parabolic for support and resistance is the actual 
revelation between success and failure.

In theory the standard PSAR (Parabolic) flips when a bar hits it. This is not true with Paradox Parabolic. It
will flip and set in stone when the market is ready to reverse in either cycle or trend. And for some 
reason you traders are not getting this revelation. 100% of your trades are failing is because you 
counter-trade the only indicator that will stop you dead in your tracks; and that is the Parabolic.

Now Lets take 2 other variables that capes the support and resistance. And that are the DB and SAR. The
DB is long term reversals; and the SAR is used for entries in the trend.

This is very important. These 2 indicators (DB/SAR) are the ONLY indicators you use to counter-trade 
the Parabolic. The reason is because the SAR uses the Power of the Parabolic trend for entries.



When they are together (DB on top of the SAR) means you are ranging and/or reversal. The phenomenon
of these 2 indicators is a true visual set up for both entries and exits. These 2 indicators is the reason 
why you traders fail. Meaning you are always counter-trading these 2 phenomenons. So many times I see
entries with the DB/SAR on the bottom; with less or more than 40 pips to the bottom and you pull the 
trigger for a short; and vice-versa for the long. It just blows me away when I see that. You traders are 
constantly trading against the Power of the Paradox.

Let me give you some examples with the DB/SAR and the Parabolic’s. These 3 indicators are 80% of my 
entry profits. The other 20% is using the Parabolic on reversals.

On this screen shot starting with the upper letter A you have both the Hidden and Standard Divergences 
with the DB/SAR attached as resistance.. Any time you see this happening means an automatic reversal. 
DO NOT EVER COUNTER-TRADE THIS SCENARIO.

On the lower letter A you have ROMAR and EMA holding both support and resistance. The reason is 
because ROMAR had crossed Purple (going through the trading area) is now both support/resistance; and
EMA is support in the uptrend with the Parabolic.. So in reality you have not trade with support AND 
resistance.

On the lower letter B is very import for a trader and the reason is because You now have both Hidden and
Standard Divergence attached as support with only 60 pips from resistance to support. You also have 
ROMAR crossing EMA is now support. EMA is now sliding for Purple to become resistance.

Now - looking at the moment with everything attached on the bottom of this bar - what do you see? To 
start with you have the 4 Horsemen in a shallow cycle because of how Smooth crossed White. This means
White and Smooth will cross Purple once the market gets back above Purple. This also means ROMAR will
continue sliding under EMA for a trip up stairs. In the moment you have ROMAR as support and market is
below support and you must wait for the market to get back above ROMAR. Three bars later you have 
exactly what you are waiting for. Patience is the secret of being successful. You had the opening bar right 
smack on top of both ROMAR and Purple for entry going long for an easy 40 pips. Also take Notice of EMA
crossing Purple for support after entering the trade.

The next attachment was with the upper B SAR after giving up your 40 pips. Another reason to never, 
ever trade from center. You always trade from the bottom and top.

With this SAR attachment you are lacking 40 pips with the target being the Parabolic support. You also 
had both Divergences attached.



We will move on to the next screen shot:

On the lower C SAR bar you had a small spike to bring out the Hidden Divergence with the DB
attaching. This happen during an economic release. So you have the SAR on the bottom and the DB on 
top with the same bar. This means there is NO Trade going either way. You have EMA, Parabolic, and 
ROMAR holding support. You have the DB, Hidden / Standard Divergences as resistance. There's not 
much room for a 40 pip trade. In order to have any trade what-so-ever you need both attached together 
for a ranging mode. In this scenario you need at least a 24 hour period before that will happen. Especially
with ROMAR as support.

Roughly 24 hours later you have both DB/SAR attached at letter D with DB on top of the SAR, both 
Hidden and Standard Divergences are also attached.

With this screen shot below I have an arrow pointing at the Standard Divergence. What you traders are 
not realizing is the Standard Divergence is also a very powerful trend line for both the top and bottom in 
the ranging mode. But the problem is you do not see it until it connects to the next bar as being 
divergence. The next screen shot I am placing the trend line.



What you do is draw a trend line from the top of the bar with Divergences to the top of the next high bar,
and you will have an accurate pip count for profit.

Taking a look at this picture below you will notice a couple of things. With the attached trend line hit you 
are looking at a down slope trend. This means instead of a higher/low up ranging mode - you are now 
looking at a down ranging mode. This also means the volatility of the market is heavier for the down 
instead of the up.

With the connection of the DB on top of the SAR for the down you are now in long term ranging mode.

ROMAR is tight being within the trading area with the 4 Horsemen slopping a cycle for a turn. With both 
EMA and ROMAR holding support You need an open BAR below EMA for a trade going south with Purple 
turning. This can happen with an open bar below Purple. The Arrow is showing the magic with Smooth 
crossing White and EMA crossing Purple for the down cycle with the open bar below EMA and just above 
the Parabolic for a flip..

If you was on your chart and totally focus you will notice the actual entry which was the opening bar after
the EMA support hit that made its way just below the Trend Line for the entry short. For one thing you 
must always believe and have faith in what you are seeing is truth. That trend line I drew is truth. and 
will never be broken as it was created by divergence. If anything the Line will be touched. It will stay true
to the next divergence connection. Another entry was with the Market balancing with Purple below 
ROMAR for 40.



As you noticed the market is moving Lower/Highs, and again you have Divergences attached with 
DB/SAR on letter E. Also take notice the created trend line is the target; and all you need is 40 pips. 
Between the Low Divergence and the High Trend Line is 100 pips. You have ROMAR, EMA and the 
Parabolic as resistance.

In order to make the perfect entry as not to experience pulls back into a deep hole - Your entry must be 
as close as you can get with Purple. In the moment with the SAR/DB connection you do not have 40 pips 
to resistance. That means you must wait with patience for an OPEN bar at Purple. As you notice I had 2 
entry arrows. One at Smooth and the second above EMA. Both entires was for 40. You have to always 
keep in mind you are in a ranging mode and Divergences are the target from hight to low; and low to 
high.

It is pretty hard to draw a trend line if you do not have a bar to use as reference as I did on the upper 
trend. But there is one way to measure distance for a pip count in this scenario. Another way is to 
determine the last lower/high divergence. It was 100 pips from low to high and it will be the same 
coming off high to low. And because you are in lower/low ranging mode this means you can attached 
anther 20 pips to the tally which is 120 pips to the target.

You have the market above ROMAR and EMA Support at divergence. This means you have two options for
entry. First one is at the trend line (Divergence) or the next open bar. If you wait then a possible hit with 
Purple Provided you have the extra 20 pips getting below the bottom of the last divergence connection.

In ranging your greatest value in making profit is off Divergence. There may be times you may get a 5 or 
10 pip bump but never your SL - unless you was trading a trend. And that is totally a different scenario. 
This tutorial is all about ranging and has nothing to do with trend. I will post this tonight and tomorrow I 
will write up a tutorial on the trends.
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